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(P9) Diego Compiiny had a $600 credit balance in Allowance for doubtful accounts at
December 31, 2005, before the current year’s provision for uncllectible accounts.

An aging of (he accounts receivable revealed the following:
Estimated Percentage

Uncollectible
Current Accounts $120,000 1%
1-30 day's past due 12,000 3%
31-60 dixys past due 10,000 6%
61-90 diays past due 5,000 12%
Over 90 days past due 8,000 30%
Total A¢counts Receivable $1555000 |
Instructions(15%)

(1) Prepare the ndjusting entry on December 31, 2005, to recognize bad debts
expense.

(2) Assume the same facts as above except that the Allowance for Doubtful
Accounts account had a $500 debit balance before the current year’s provision
for uncollectible accounts. Prepare the adjusting entry for the current year’s
provision {or uncollectible accounts,

(3) Assume that the company has a policy of providingf for bad debts at the rate 1%
of Sales, that Sales for 2005 were $400,000, and that Allowance for Doubtful
Accounts had a $550 credit balance before adjustment. Prepare the adjusting
entry for the current year’s provision for bad debts.

(71) Present below are accounts selected from the general ledger of the Jackson
Company afrer the adjusting entries have been made for the year ended Dec.31,
2005, the first year of business. Notice that the total debits and total credits to
the accounts, rather than the account balances, are given.

. Debit _Credit

Prepaid Insurance $ 4,800 $3,600

Office Supplies on Hand 3,500 1,700

Accounts Fayable 4,200 6,300
" Salaries Payvable ' 700

Unearned Revenue 11,300

Salaries Expense , v 8,500

Revenue : 1,300 16,300

Insurance Expense 4,000

Office Supplies Expense ' 1,700

Instructions(20%)
(1) How much cash was paid for insurance for the year?( f_ﬂ rh A 2H)

(2) How much (ash was paid to the employees in the form of salaries during the
year?

(3) What adjusting entry was made for office supplies?

(4) What adjusting entry was made for revenues? (it} 336 0A) #ﬂﬂ@ﬁﬁpgq
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(-—) The Clarkson Company received $3,373,868 on July 1, 2005, for the issuance of
$3 million of 12 %, 10-year bonds dated July 1, 2005. This price result in 10%
market interest rate on the bonds. The bonds pay interest semiannually on July 1

“and January 1. Clarkson Company’s accounting year ends on December 31.
Instructions(20%)
Pre¢pare the general journal entries relating to the bond issue for 2005 and 2006,
assuming that the effective-interest method of amortizing premiums is used.
Rorind your answers to the nearest whole dollar. '

() KERE 94410 A RSRIEERIT ¢
(1) BB LAR%$26,193 -
(2) ST FHRRITISIS -
(3) # fTHIR B AR %H$28,020 -
(4) 13 FRX$10,152 -
(5) $EATIRILELINE9,000 » VHITFRIEES4S -
(6) ASRBZE $3,864 -
(7) {8 R R 58805 -
(8) {3 FE(TIRFABANL 7 2$1,250 - {HA TR LRG0 ES$1,230 -
AAERTELNE] 10 R Z SRITIEREREIR (R E MRS ) RULEC FaRe 8% -
(17%) _
(=) The following is a list of the items to be included in the 2005 statement of cash
flovss of the Glass Company:
.(1) Proceeds from sale of equipment, $21,000.
(2) Decrease in inventory, $30,000.
(3) Net income, $183,000.
(4) Payment of purchase of building, $350,000.
(5) Depreciation expense, $93,000,
(6) *roceeds from issurance of stock, $50,000.
(7) Increase in interest receivable, $6,500.
(8) loss on sale of equipment, $5,000.
(9) Payment of dividends $39,000.
(10] Increase in accounts receivable, $27,000.
(11) Issuance of bonds for land, $47,000.
(12) Increase in accounts payable,$18,000.
(13) Derease in wages payable, $3,900.
" (14) Ending cash balance, $184,000.
Instiuctions(28%)

Prepare a statement of cash flows. *Mﬁﬁﬂ"‘]






